e =, = Vi i
% = H = Efl EEALT T AEE ERERELE R
T F ol Ll MR B B & |4 C2
kT
SRR |7 2 7 7 L g | t=15enlL T it LD 8.5 m 9
EEERAE |7 2 7 7oL MR t=15emPL T Stk 1D 25 1+21. 7+21. 7 68.5 | m2 69
im0 2 b UG RS AN J1liE T THL (2) £ 100.07+0.66 0.7 ] m3 1
OB T AT 7V b L=6. 5kmLL 25.1X0. 1+ (21.7+21.7) X0.05 4.7 | m3 5
I MWip a7 J— b |L=10. 9kmPL F Wi & L0 0. 008+0. 008+0. 08+0. 348+0. 07+0. 66 1.2 | m3 1
WLy B T A7 7 )Lk WHSHTOSAWA T3 ]4. 7X2.35 11.0 t 11
WLy Mg a7 U — b |mksgse Al 2X2. 35 2.8 1 3
+T
HEH! +# FEEDSE OB |EREEL D 43.4X (0.1+0.2) 13.0 | m3 10
bR ER /N 1=2. 5kmLL T Ak 13.0 | m3 10
LESel 7 % 1 AT O AL Ak 13.0 | m3 10
Wi hh K T
BHEPAK T | BBEREA e ML - AR LD 23.7 | m2 24
PRAHE A R R R (n/100m2) [19. 9/23. 7%100 84. 0|m/100m2
B b ek 2 (n/100m2) | (13. 9+13.°9) /23. 7%100 117. 3| m/100m2
PR S b AT BEKFEKE ¢ 18mm
B i B i A ALERAA R H RS

1/4

(L)



% &= i B L EH HB AT AR GRER LE GRS
T fé &l Al S HiL| % & | 3

[ G e T

b E e T ffEAEE - fEm K & D 7.2 m 7
B - SRS LR S T

KGR L |7 A — VEX[F% b AT - BRI (D) . (2) KV 6.29+6. 52 1.0 |[HEEY) 1

BRI R T Hi7g - EAKPIIEM (1), (2) KV 1.58+1.58 1.0 |[HEEY) 1
VRS F i T

OO E THURETEA Tk R 3 MR AR o | IR AR B SR 1 D) 1.0 | 1

O UELAE T TR Tk #yv—t A bz |BIRRER LY 1.0 | 1
1 & e T

=y —ria|FEEI N < K UL [30mmEk F200mmoRd | FES L (2) KV 10.0 | 4L 10

7 A — A [\ I 10.0 | K 10

7on—in e | I T — R-12N [7]_E 10. 0 AN 10

B L SD345 D13 N 0.07 ] t 0.07

27 Y — bk |24-12-2588 w/e=s5%i 1 | HERT - SRAHAE G |[F) E 0.7 | m3 1

F — A B - S |IF 7.3 | m2 7

27 Y — bk |18-8-258B W/C=60%0) k| /NEAE [l k- 0.1 ] m3 0.1

H — iR /NI [ k= 1.2 | m2 1

2/4

(L)



% = B 5 # [ HES AT AR RS T GRS
T f &l ] Bk B B & | 2L
HEEDHE T
sk e |V=0. 44 #Y~—t A bansn ALY 0.0077+0. 0082+0. 0801+0. 3477 1.0 [#iEm 1
HEACRE I HifE T
PR ERRE | FM DA PEAKSEE L D 4.0 | FEPT 4
PEAKEM B G .o | &K 1
PEAK PR (B [HEA B 20ke/ {H A G 4.0 | fEpr 4
JKED D BRIE T
KUY FEE |va—s—n oy A% JRJR T ik L D 12.0 | m 12
BT
S ) HLK EAS20 3. Omit  t=4cm  |EHZERHE LY 25.1 | m2 25 | i i &l 2
XKJE BERIFEAS ISP 17 |3, OmE  t=4cm G 25.1 | m2 25 |1E sl
AEEE MM AR L ik 43.4 | m2 43 | BB
THEBE  [RC40-0 t=20cm N 43.4 | m2 43 | ERAE
FRERE  M-25 t=10cm EN- 43.4 | m2 43 | ERAHE R
K P EEAs20F |3, Om#  t=bem  [[A k- 43.4 | m2 43 | BUHE

3/4

(L)



% &= i B L EH HB AT AR GRER LE GRS
T fé &l Al S HiL| % & | 3
a1
2% T 47 A RERE KD 23.3 | m2 20
wi e e | 20— N HARIR 1IAI[3. 0/ Z# 2 4. 01 LT |[F] [ 9.0 | m2 10
o5 T R - BN - iR [ ] |- 65.0 | 48 65
4/4

(L)



hR2.0GGT E R E)

i = 7%
fEw e T (PRI i) SEHFIT RS P1
4 i fiE A L & g B = g i I =z
OO ifiE | =R B EAM L= 215 m
(FEAL) 2FH /i - Y
A SR 2.24 mm (KAL)

T 10 cm (BEE)

FbE 1200 kg/m3
o R ER 5 %

0.00224 X  0.10 X 2.15 X 1200 X 1.15 = 0. 66 0.66 |kg
S g3 cm
=2 2 mm (BTE)
fbE 1700 kg/m3
0.03 X 0.002 X 2.15 X 1700 = 0.22 0.22 |kg
{‘EEEE‘)\%%E %&Eﬁfﬁﬁ% 4 ZI:/HI




hR2.0GGT E R E)

% = £

IEY e T
(PRRR T i) SEHRFHT S P 1
4 i fiE A L & &t = = g i I =z
ObhnfiE | RUV~—E2x2 b L= 0.30 m
(F£HET) % i L Y
FeHb 0.01 X 0.0l X 0.30 X 1925.0 = 0. 058 0.058 |kg




